2MPEND—-Frvo
e Jaw Thru-Hole Power Chuck

BTZOO series

ERENIYOIBiEICHEE
For gripping Irregular shaped components

*CEXIhG *CE correspondence

iDiIKEEGI Gripping Examples

|
@g@ﬂ
=K.
[
il

ul L
F1T71—Y I %wT b
Diffuser Crank shaft

M ~J%E Dimensional Drawings
L -3 EyF15

Y Serration pitch 1.5
(EXZRZ) (Size x Depth) w — —
T iEighitkERR Gripping Characteristic Graphs
I MIRFIZEY TN 3 —EAVCHEEDHDTI,
= e I 2 %With standard blank soft top jaw.
U T s g 100 BT212 |
- B o™ B S g B[210
w Br208
| | -E
z IS 60
e i[ —P st —= ® 37206
2 BT205-
— 7%7 /@ = 20 e
L] = T R T204.
r he 1o}
m I E, =] 1000 2000 3000 4000 5000 6000 7000 8000
/ [El§r®E Speed: min-!
K/ ElL
B

. . B %BT204. 20508}, Ya—trd—kDAEHEB0, —44K xRO-FvhORUIIEKMNITY,
. T_I'}Eﬁ Dimensions #Mounting bolt P. C. D. for BT204 & BT205 : each 60° from jaw centre : 4 pcs. #%Blank draw nut equipped.

N N OO P P
max. min. max. min. max. min.

706 | 26 | 4-M10 | 155| 14 | 23 |203 |1125| 675 35 |- 65/ 23 | 10 [175| 2 | M3&2x15| 12 | 24 | 495| - -
8255 33 | 4M10 |15 | 14 | 265|238 |1975| 775| 1 |- 9 | 23 | 10 |20 M40X15| 12 | 26 | B4 - -
1048 | 45 | 6-M10 | 16 | 20 | 32 |2925|2275| 92511 |- 1|26 | 12 |19 M55x2 | 20 | 29 | 66 |4-M6X10| 116
BT208 (210 91 | 170 1334 52 |6-M12 |20 | 25 | 387|135 |30 |15 |145|- 15| 35 | 14 |205 ME0x2 | 30 | 39 | 95 |3-M6X12| 150
BT210 |254| 100 | 220 17141 75 | 6M16 |22 | 30 |51 466 |34 |145 | 85 |-105/ 40 | 16 |25 MB5x2 | 45 | 43 (110 |3-M8x15|190
BT212 (304/110 (220 6 [1714] 91 |6MI6 |23 | 30 | 613]56 |4675|1675) B8 |-15 | 60 | 21 |28 M100x2 | 50 | 51 [111 [3-M8X15|190

BT204 [110| 59| 85
BT205 (135 60| 110
BT206 |169| 81 | 140

F
4
4
5
)
5

NN NN

M TR Specifications x#sgspEmEEE FABICEDEFT. ¥Max. speed is shown using actual test data.

sncmgﬁ?s BiEyvE  EERGrmngrange Ya-2h0-4 (BR) J5UUPANI-S EFESRAAS RAHNILES HXASREHEE €BEIVH) BEE-XUb Bayyysy FERNHES meyoLys-
ﬁiotd eul Thr;;_:\-!ole = mm . Jaw svormameten Plungrenr rT&?troke Max. Era'\vlv(alirgPufH)Force Maxi(G'\rluz?(uEfF)urce Maxﬁ_ﬁﬁeed Neﬁ'&ewgmw&hgsmtmn s Mumelgé ?mzert\a Matching Cylinder Mﬂéé(r;;felgﬁgre Matching Soft top jaw
BT204 26 110 9 54 10 93(948) (19 (1937) 8000 38 0.006 FO933H |1.94(19.8)| SBOANTT
BT205 33 135 14 54 10 11.7(1193) | 24 (2447) 7000 6.5 0.017 FO933H |2.38(24.3)| SBOSNIT
BT206 45 169 17 55 12 145(1479) | 38 (3875) 6000 115 0.056 51246 |1.85(189)| SBOGL1T
BT208 52 210 17 74 16 23.2(2366) | 57.3(5843) 5000 21.3 0.165 S15562 |1.80(184)| SBOSATT
BT210 75 254 38 88 19 285(2908) | 74 (7546) 4200 335 0.308 S1875 11.80(184)| SB10A1T
BT212 91 304 41 10.6 23 36.7(3742) | 96 (9789) 3300 52 0.700 S2091 1.81(185)| SB12N1T

MO B2TNDEE(F I\ I T — 3R T HETHRNTRETT,
m ¥ Altering Back Plate enables to change over 3-Jaw Chuck into 2-Jaw Chuck.





